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7. U 179 aAABC ol Af7H| o] BE WA g 9 ghs FotolEt

@ sin z cos T tan x

43° 0.6820 0,7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1,0000

46° 0.7193 0.6947 1,.0355

47° 0.7314 0.6821 1,.0724
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| el AS H7)oflA B al=?

Zte sin cos tan

10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0,7071 1,0000

50° 0,7660 | 0,6428 1.1918
70° 0,9397 | 0.3420 2.7475

89° 0.9998 0.0175 57.2900
Y
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@ sin20° = 0.9848 O cos45° =0.7071
© tanb50° = 0.6428 ® 2sin10° = 0.3420
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@ 500s70°=0.8192 ® 3tan45° =3
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ZI e sin cos tan
10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0.7071 1,0000
50° 0,7660 | 0,6428 1,1918
70° 0.9397 | 0.3420 2.7475
89° 0.9998 | 0.0175 | 57,2900
o
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